13000 GeV pp Z (Drell-Yan)

g 0-1 T TT | I I I T T TTI | I I I T T TTTI |
S B @, (1) ratio (CMS Drell--Yan) 7
= B |
s . m CMS |
o ---=-- Pythia 6.428 359
~ 0.08 — . —
| —A— Pythia 6.428 370 1
1 —+— Pythia 6.428 a
2 ~  --+¥-- Pythia 6.428 dw 7]
g — —o— Pythia 6.428 p0 =
0.06 — - Pythia 6.428 pro-g20 —
0.04 —
0.02 —
CMS_2022 12079374 ]
a | | L1 1 111 | | | I T I | | | L1 1 111 | | |
: T T T T T LI | T T T T T T T | T T T T T LI | T I:
2 B =
n B ]
= - _
@) L _
S
8 —
7 i
x

Rivet 3.1.10, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


